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Ghec)wp SOLZ1T Estimate and find differences

Choose the answer that shows the best estimate.

Hs84-73=
A 80—70=10
B 90—-80=10
C 90 — 70 = 20
D 80-80=0
fd33-16=

F 40—10 =30
G 40 — 20 = 20
H 30-10=20
] 30-20=10

Estimate the difference first by rounding the numbery ¢, ¢he nearest ten,

35

then solve.

m g9 []

BH72-33= E163-34=
F 70 -30=40 A 70 —40=30
G 70 —40=30 B 60—30=30
H 80-30=50 C 63 -34=40
] 80 —40=40 D 60 —40=20
8357 -26= 45 -22=
A 60-30=30 F 40-20=20
B 50-20=30 G 50-30=20
C 57-26=20 H 50— 20=30
D 60— 20 =40 J 40-30=10
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Name

M SOL 2.7 TSW: estinate ang £ind the
difference of My whoele numbers 99 o les

Bet 12 Aoout  how mych is the difference ?

. 63 -~ 2. 43 ~» QY >
~2b - -2~ - 5.*47%
77 77 B 27
HLLZL%: 5 33-\5-77 G. 49—2‘?.—:.7;.

—
—

Fart Z: Find the drfference

. 83 2. 779 3. 21
- 74 “4b - 9
4. 57 5 H4-23:= 6. 60-37~
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Name
SOL ‘?-7&- estimate the difference of two whole numbers

Quiz

1) 54 2) 98 3) 75

- 33 - 65 - 32
4) 81 5) 45 6) 81

- 11 - -9 - 66
7) 76 8) 61 9) 59

- 41 - - 31 - 37
10) 49

- 15 -

L
Name

SOL 2.7 - estimate the difference of two whole numbers

Quiz

1) 54
- 33

— X =
S —
o

3) 75
- 32

7) 76
- 41

9) 59

10) 49



Name

Subtracting Tens and Ones
M2.7 o
Subtract Subtract
the ones. the tens.
tens | ones tens | ones
6 8 6 8
-4 | |6 -4/] 6
2 2 2
4 Now try these:
A, 53 56 79 68 77
- 21 - 24 - 33 - 46 -7
B. 93 59 38 49 75
- 40 - 16 - 26 - 15 - 35
28 45 43 76 76
-17 - 23 -31 - 15 -5]
D. 72 46 9y 39 88
-50 -21 ~-72 - 18 —-76
<. 49 75 78 62 64
- 19 - 35 - 16 - 20 - 51




= Name
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Subtraction: with regrouping
e

T

Keeping the Beat 27 i s ) *#

Subtract.

Cross out the matching difference on the drum. n I f

31

A. AQ B. 32 C. 81 D. 42
-14 -19 -~ 25 —-34
26
E 895 F 62 G. 7 H 61
- 37 — 46 —48 - 52
l 70 J. 83 K. 96 L 90
=53 - 67 = 77 — 65
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Subtract,
Cut apart the squares on the left.

Glue each Square over its matching problem on the grid. (

i g \
2 25 61 50 74
S| =19 ~33 —~ 07 —48
\)
81 42 34 90
— 22 ~38 ~ 16 — 53
75 23 87 52
~36 - 18 — 29 — 17
e '/‘\
60 71 95 84
- 27 ~ 58 — 47 - 15
53 44 70 36
—15 _ 27 — 24 — 28
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Two-Digit Addition: No Regrouping (A)

70 73 45 82 79 61 52 83
+11 +16 +30 +13 +10 + 15 +15 + 16
79 72 46 73 46 76 27 40
+10 +26 + 31 +15 +22 +13 +40 + 47
28 53 40 50 54 55 38 16
+30 + 23 + 41 +37 +24 +24 + 31 + 41
46 73 18 19 71 66 73 64
+33 +22 + 11 +20 +13 +12 +10 + 11
31 62 49 37 80 16 38 45
+32 +15 +20 +32 +16 +63 + 31 + 40
68 76 73 47 15 89 63 86
+ 21 +12 +14 + 11 +22 +10 + 11 + 11
20 86 53 45 66 68 55 69
+34 +10 + 16 + 51 +23 +10 +33 +10
51 14 29 10 79 24 20 29
+35 +72 +40 +44 +10 +42 + 55 + 60

Free math worksheets at www.math-drills.com
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24

45

34

44

41

38

34

42

32

54

32

15

52

14

44

46

61

22

23

25

25

Two-Digit Addition (A)

= 21

= 53

= 23

= 35

= 31

= 11

= 41

= 84

= 14

= 33

= 13

+

+

26

21

56

63

41

71

55

11

42

31

75

47

31

44

11

45

52

47

41

51

32

33

+

12

32

24

25

52

26

31

56

16

66

42



Easter Addition with sums to 100 worksheet 5

Name
Easter Addition
sums to 100
Write the sum in the Easter €gg below each addition problem.,
71 26 575 39 24
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Fill in the circle next fo the correct answer.

1.

56 2. 95 3. 81
oa) 15 oa) 42 oa) 89
+ 47 - 53 + 18
ob) 85 —— ob)4s ob) 98
oc) 97 - Oc) 84 oc) 99
4 5. 6.
39 67 /0
. 50 o929 _yp 0925 - 30 0920
ob) 89 o.lo) 26 — ob)uo
oc) 99 oc) 29 0¢) 90
7, 8. Q.
4é /5 64
.23 0a23 _ 95 00950 . 3y ©ol88
ob) 63 ob) 60 ob) 98
oc) 69 oc) 70 Oc) 99
10. 11. 12.
88 18 53 5
_ LI-LI- OCI) 22 + 11 QG) 2q _ 39 OG)_ O
—  ob)yy ob) 28 ——  0b)2]
oc) 66 oc) 27 oc) 22
13. 14, 15.
73 92 51
+ ]2 OG) 6] _ 60 00)30 L 25 OQ) 76
ob) 81 ob) 32 ob) 67
oc) 85 oc) 42 oc) 36
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ubtrudio Terms

, ~ subtrahend
N ey Ty ™ ™

Write the missing subtrahends.




